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SOURCE STATEMENT

PROGRAMED BY Ms THE MEMRER OF SMESG
DIMENSION X(50),X1€50),%X2(50),P(50),ALPA(50),KK(50)
DIMENSION V1(¢15.,15),V2¢15,15),V3(50),V4(50),V5(50),V6(50)
DIMENSION V7(¢50),V8(50),5UM1(50),H(50),F(50),G6(50)
DIMENSION A(20,20),R(20,20) ,HH(50) ,HG(50)
REAL [1.,KK

READ(7,10) NN,M,W,E,D,N
FORMAT(215,3F10,0,15)

IF(NN,EQ,0) GO TO 11

READ(7,15) (X(D),I=1,NN)

READ(7,15) (KK(I),I=1,NN)

READ(7,15) (P(1)s1=1,M)

READ(7115) (ALPA(I)II=IIM)

FORMAT(8F10,0)

L.=NN=1

DO 200 I=1,L

J=l+1

X1 =X =X

CONTINUE

DO 211 I=1,NN

SUM1(I)>=0

SUM2=0

SUM3=0,

SyUMa=0,

IF(M,E®.0) GO TO 100

DO 205 1=1,NN

DO 205 J=1.,M

V1€, D=X(1)=ALPACY)

IF(V1CI#J).LTL0) V1(1,1)=0

V2(1, =P () #vi(l,))*x3/6,0
SUML(1)=SUMLI(1)+V2(1, N

DO 210 I=1.M

V3(1)=x(2)=ALPAC])

IF(V3(D)LTL0) V3(I)=0

V4(l)=v3(1)#x3

SUM2=SUM2+Va(])
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C FOR H(1),H(2) ##
36 DO 206 I=1,M
37 SUM3=SUM3+P (1)
38 SUMbL=SUMe+P (1) =#ALPAC(])
39 206 CONTINUE
C FOR COFFFICIENTS #= N
40 100 11=3,14159264D##4/64,0
41 20=E#11
42 Z1=20/(X(2)#KK (1))
43 22=X(2)#%2/6.0
44 13=20/%K(1)
45 DO 220 1=1.NN
46 V5 (I)=X(1)=X(2)
47 [FVS (D), LTL.0) V5(I)=0
48 220 CONTINUE
C FOR HCI),FC1),G(I) #=
49 H(1) == (SUM3+W#X (NN))
50 H(2)==(SUM&+Wa#X (NN)#%#2/2,0)
51 DO 215 1=1,NN
52 FCD)=(XCI)*%3/6,0+Z15X(1)=72#X(1)=23)/720
53 G(I)=(V5 (1) ##3/6,0=-214#X(1))/20
54 215 CONTINUE
C FOR A=MATRIX %
55 DO 225 I=1,2
56 HG(I)==H(])
57 DO 225 J=1,NN
58 IF(l.FQ.1) ACT,U)=1
59 IFCIWEQL2Y ACI,J)=X(W)
60 225 CONTINUE
61 DO 226 1=3,NN
62 DO 226 J=1.,2
63 IF(UEQ, LY ACI,D=F(D)
64 IF(J.EQe2) ACI,N=G(])
65 226 CONTINUE
66 DO 227 1=3,NN
67 HOD) = (=WaX (1) %%4/24  0+WaX (D) #23#X (1) /24 ,0+SUMDEX(1)/(6.0#X(2)) -
1SUM1(I)) /20
68 HG(I)==H(])
69 DO 227 J=3,NN
70 [FCILEQLJU) ACI,I)=1.0/KK(])
71 TFCILTW) ACl. D=0
72 [FCIGTLU) ACL, D=(X(1)=X(U))ux3/(6,0%20)
73 227 CONTINUE
74 WRITE(8,48)
75 48 FORMAT(///10X, A=MATRIX ")
76 DO 228 I=1,NN
77 228 WRITE(8,49) (ACI,J),J)=1,NN)
78 49 FORMAT(10X,10F15.6)
79 WRITE(8,50)
80 50 FORMAT(10X,'H(CI)',20X,'F(I)*,20X,tG(1)")
81 WRITE(8,55) (H(I),F(1),G(]),[=1,NN)
82 55 FORMAT(5X,E15,6,9X,E15,6,9X,E15.6)
A3 CALL INVERS(A,NN,HG,N,DET)
84 DO 230 I=1,NN
RS HH{I) =HG(])
86 DO 230 J=1,NN
87 BCLa D)=ACLL D)
88 230 CONTINUE
89 WRITE(8,56)
90 56 FORMAT(10X,*'A~INVERSE")
91 DO 235 1=1,NN
92 235 WRITE(8,57) (B(1,J),J=1,NN)
93 57 FORMAT (10X,10E15.6)
94 WRITE(8,60)
95 60 FORMAT(//,10X,*HH(I) ")
96 WRITE(8,65) (HH(I),I1=1,NN)
97 65 FORMAT(10X,10£E15.6)
98 GO TO 9
99 11 STOP

100 END
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SOURCE STATEMENT

SURROUTINE INVERS(A,N,R,M,DFT)

THIS PROGRAM [S FOR MATRIX [NVERSION AND SIMULTANEOUS
LINEAR EQUATIONS

DIMENSION A(20,20),B(20,20),1PVOT(30),INDEX(30,2),PIVOT(30)
EQUIVALENCE (IROW, JROW)Y, (1COL »JCOL)
FOLLOWING 3 STATEMENTS FOR INITIALIZATION
DET=1.0

DO 17 J=1,N

IPVOT () =0

DO 135 I=1.N

FOLLOWING 12 STATEMENTS FOR SEARCH FOR PIVOT FILEMENT
T=0

DO 9 JU=1,N

[FCIPVOT(J) .EQ,1) GO TO 9

DO 23 K=1,N

IFCIPVOT(K)=-1) 43,23,81
IFCARS(T)GE.ABS(A(J,K))) GO TO 23

IROW=y

1CoL=K

T"A(Jo'()

CONTINUE

CONT INUE

IPVOT(ICOLY=IPVOT(ICOL)+1

FOLLOWING 15 STATEMENTS TO PUT PIVOT FLEMENT ON DIAGONAL
IFC(IRDOW,.EQ.ICOL)Y GO TO 109

DET==DET

00 12 L=1.N

T=ACIROW,L)

ACIROW,LY=ACICOL,L)

ACICOL L) =T

IF(M,LE.0) GO TO 109

DO 2 L=1,M

T=B(]ROW,L)

BC(IROW,L)=B(ICOL.,L)

B(ICoL,L)=T

INDEX(1,1)=1ROW

INDEX(1,2)=1COL

PIVOT(1)=ACICOL,ICOL)

DET=DET#OIVOT(])

FOLLOWING 6 STATEMENTS TO DIVIDE PIVOT ROw BY PIVOT ELEMENT
ACICOL,ICOL)=1.0

DO 205 L=1.N

ACICOL,L)=ACICOL,LY/PIVOT(D)

[F(M,LE.0) GO TO 347

DO 52 L=1,M

BCICOL,LY=BCICOL,LY/PIVOT(])

FOLLOWING 10 STATEMENTS TO REDUCE NON=-PIVOT ROWS
DO 135 L1=1,N

IF(L1.EQ,ICOL) GO TO 135

T=A(L1,1COL)

ACLl,ICOL)Y=0

DO 89 L=1,N

ACLL,L)=ACLYI, L)=ACICOL, L) %T

IF(M,LE.0) GO TO 135

DO 68 L=1,M

B(LllL)'—'B(LllL)"B(ICOLIL)*T

CONTINUE

DO 3 I=1,N

L=N=1+1

IFCINDEX(L,1) FR.INDEX(L,2)) GO TO 3
JROW=INDFX(L,1)

JCOL=INDEX(L,2)

DO 549 K=1,N

T=A(K, JROW)

ACK, JROWY=A(K,JCOL)

A(K,JCOL) =T

CONT INUE

CONT INUE

RETURN

END
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=04
=0,
-0
=0

(2

-0,
=0
~0.
-O.

(1

2

A=MATRI X
0.100000F 01
0.000000E 00
0.140133E=-01
0.356099E-01

HCDD

4500008 03

337500 05

116120E 00

963588F 00

A=INVERSE
0.533230F 00
0«472516F 0O
0.300646FE 00

=-0.306392F 00

HHC(T)
0.958374¢ 02

A=MATRIX
0.100000E 01
0.000000F 00
0.255214E=-01
0.820856FE-01

HCD)

900000F 03

135000F 06

270072F 01

151101F o2

A=INVERSE

0.100000€ 01

0,400000E 02

~0+221766E-01

«0,340568E-01
FCD

0,100000E 01
N.900000F 02
0.100000F=01
0.558771E-03

-0,100000E-01
-0.194018F=08
0.,140133E-01
0.356099E=01

=0.473549€£~02
~0.282991E-02
0.360226E~03
0.720517€~02

0,109996F 03

0.1000C0E 01
0.1000C0E 03
=0+174131E-01
~-0.930477E=-02
FCD)

-0,116931F 02
-0.215140E 02
0.686752E 02
=0.354680F 02

0.121247E 03

0,100000E 01
0+.200000€ 03
0.100000E-01
0.258690E=02

=0,100000£=01
-0.388035€~08
0.255214F=-01
0.820856F~01

0.166881F 00 =0.907660E=03 =0,126191F
0.781882E 00 =0.256421E~02 =0.265776E
0.935595F 00 =0.214860E=02 0.569409E
-0.88435TE 00  0,562047E=02 =0.291014F
HH(T)
N.183537€ 03  0.266679E 03  0.266031F
) [~
RT3
AENINNEEREIAEENEERIARNTUR
ﬁ_Mg,%,wfg._%, _ 60
4 i 7 77
k= 150 K3/,
o [}
72'( W 3%
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01
02
02
02

03

0.100000E 01
0.150000E 03
0.000000E 00
0.100000E=01
Gt
0.000000E 00
~0.100000E-01
-0,221766E-01
~0.340568E~01

02
01
02
02

0.177094E
~0.480295E
=0.354680E
0.225616E

0,122920E 03

0.100000E 01
0.300000E 03
0.000000E 0
0.1n00000E=C1
G(1)
0,000000E 00
=0.999999€-02
«0.174131E-01
-0.930477F=02

02
01
02
02

0.105417€
~0,126193E
=0.291014E
0.198215E

0.,183753E ¢3
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